CHI2



SHA 2.

27

o] o]

o

il
il
)

;,AE
~3

=

-~

-

~-15cm-~

-~

cm



CIIl2



2 kA2

212.0] o]

P

A

4.

cm?



@ 78.5cm?

@ 314 cm?

729 ol 2 ot Atz

@ 157 cm?

B 392.5 cm?2

@ 235.5cm?



e 18 22 =3 9] §olE FsHA L.

_--3eme

N

@ 3.74cm? @ Tcm? @ 9.14cm?



7. AF

rsk

Rxo| ol g Fatela},

@ 94.2cm? @ 125.6cm? @ 157cm?

@ 188.4cm? 3 314cm?



SHA 2.

27

o] E¥|9] Qo]

i
il
)
e
-.A

--15cm---

cm



Cm2



-
e}
12
1
rsk

L

cm

T~-16cm- -







3cm

6cm

cm2



-
o
_|>~
i)
s
4
M

o] Yol FobAl L.

__10cm._ )

~. =

T 21emr -



14. the TYolA AEE HR 0 Yol S A0,




15. the mgolA] AEg HEo] Seo] Aol FatAl L.

5cm/l\
\ |

~~--10cm- -




16. ts =FolA A




cm



18. the =R AL BEo| S0 Lol g oA

= 20cm- -



19. o= =golAM A

405 RRo) Selo] ol B FalA L

cm






--10cm--

Lo

cm2






23. g TOIA 2 Q9] FAL A odurh WG FRo| HolB
o]—/\]g_



